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��+ A6/+.-/5.+ �-< 23/+1 G200+1/+8 21 /�+ -�6A6/ 6+< 23918+,+18+1/ 420,21+1/ B1-A;<6< �94B � 32. �18617 0 +-1�61735A 86.+G/621< 61 8-/- -18 -,,A6G-/621< /2 F�,A2.-/2.;@.2� +G/621 @5.<56/ -18 86�+.+1/ 8-/- 0 61 617 ,.2�A+0 < �-?+�++1 86<G5<<+8 ��� = �C�� = �C�� � *+<,6/+ /�+ �+AA �12�1 3-G//�-/ /�+ /;, + 23 121 A61+-.6/;= 2. +�56?-A+1/A; /�+ 2�� +G/6?+2. G21/.-</ 351G/621 5<+8 61 94B 0-�+< /�+ -A72.6/�0 <++�86�+.+1/ /;,+< 23 </.5G/5.+ 61 /�+ 8-/- = 61 02</ 23 /�+ -,�,A6G-/621< /�+ ?-.6-1/ 23 94B 5<+8 �-< -.�6/.-.6A; G�2<+1 �918++8 = /�+.+ -.+ 3+� <5G� 8-/- +�,A2.-/621 -,,A6G-/621<��+.+ /�+ A-/+1/ ,.2�-�6A6/; 86</.6�5/621 G-1 �+ 8+.6?+83.20 /�+ ,.2� A+0 = -18 /�+.+ -.+ 3+�+. -,,A6G-/621< ��6G�0 -�+ 5<+ 23 /� 6< 6132.0 -/621 �91 /�6< ,-,+. �+ G21<68+. /�+ ,.2�A+0 23 GA5</+.617 -<,+G6�G /;, + 23 8-/- -18 61G2.,2.-/+ 25. �12� A+87+ 23/�+ 8-/- .+,.+<+1/-/621 61 8+.6? 617 -1 -,,.2,.6-/+ 94B0+/�28 � ��+ <, +G6�G 8-/- �+ -.+ G21<68+.617 6< ?+G/2.<,-G+ .+,.+<+1/-/621< 23 /+�/ �-<+8 82 G50 +1/< � @.+?625<-,,A6G-/621< 23 94B /2 /+�/ .+/.6+?-A ��� -18 GA5</+.617 ���6186G-/+< /�6< -< - ,.20 6<617 -.+- 23 61?+</67-/621 = �2�+?+./�+ /�+2.+/6G-A .+-<21617 2. 02/6?-/621 32. /�+ 5<+ 23 94B-< - 82G50 +1/ ,.2 G+<<617 /22A �-< � ++1 <20 +��-/ A-G�617 �9/ �-< �++1 A+3/ 51+�,A-61+8 ��; -18 �2� 94B 0-; �+ +3�3+G/6?+ 61 /+�/ 0 61617 � �1 /�+ 2/�+. �-18 = �-/+1/ :+0 -1/6GB1-A;<6< = ��6G� 6< �-<+8 21 :6175 A-. �-A5+ *+G20,2<6/621�-< - A217 /.-86/621 61 82G50 +1/ .+/.6+?-A .+<+-.G� = -18 6/�-< ,.2?68+8 21+ <2A5/621 32. 8+-A617 � 6/� <;121;0; -18,2A;<+0; �CC� ��+ <�2� 61 /�6< ,-,+. /�-/ </-./617 3.20 /�+ @.61G6�,-A 420,21+1/ B1-A;<6< �@4B� G20,.+<<+8 ?+G/2. <,-G+82 G50+1/ .+,.+<+1/-/621 -18 12/617 /�+ 7+20+/.6G <�-,+23 /�+ G20,.+<<+8 8-/- = /�2 0286�G-/621< /2 -  -5<<6-10 6�/5.+ 028+A ¡ 61 2.8+. /2 �+//+. �/ /�+ 8-/- <�-,+ ¡

/5.1< /�+ ¢ -�6050 �6�+A6�228 �¢�� 0 6�/5.+�A+-.1 617 /2-1 94B ��6G� <, +G6� G-AA; 0 -�60 6£+< /�+ <�+�1+<< 23 /�+,.2� +G/621 � ¤+G2716£617 /�6< G211+G/621 = /�+.+ -.+ <+?+.-A�-;< /2 60,.2?+ /�+ �1-A GA5</+.617 -GG5.-G; ¥ 5<617 - A-.7+.?2 G-�5A-.; 2. ,2</�,.2 G+<<617 /�+ .+<5A/< �; F¢ 0 6�/5.+028+A617 61 6/6-A6<+8 �; /�+ GA-<< ,2</+.62.< ,.2?68+8 �; /�+,.2,2<+8 94B ?-.6-1/ � ��6< A-//+. ,2<<6�6A6/; -?268< /�+,.2�A+0 23 616/6-A6£-/621 23 F¢��-<+8 0+/�28< ��6G� 6< +��-G+.�-/+8 ��+1 /�+ 8-/- 6< � 67� 860+1<621-A -18 <,-.<+ �D� �9/ 6< -A<2 �2./� 12/617 /�-/ /�+ .+<5A/-1/ 94B -A72.6/�0 �-<?+.; 3-</ G21?+.7+1G+ ���� </+,<� = -18 6< G20,5/-/621-AA;<60,A+ � 91 /�6< �2.� 6/ 6< -<<50 +8 /�-/ /�+ 150�+. 23 GA5<�/+.< 2. ¦§¨ ©ª« 6< �12�1 �91 :+G/621 D �+ �.6+¬; 8+<G.6� + /�+ 8-/- .+,.+<+1/-/621 =:+G/621 � ,.+<+1/< -18 02/6?-/+< /�+ -A72.6/�0 = :+G/621� 76?+< - 86<G5<<621 = :+G/621 ­ ,.+<+1/< /�+ +�,+.60 +1/-A.+<5A/< -18 �1-AA; �+ +18 � 6/� G21GA5<621< -18 35/5.+ 86�.+G/621< 23 61?+</67-/621 �
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��.257�25/ /�6< ,-,+. �+ � 6AA G21<68+. �67� 860+1<621-A8-/- ?+G/2.< = +-G� .+,.+<+1/617 - /+�/ 82 G50 +1/ � F-G�?+G/2. 6< 23 /�+ <-0 + 860 +1<621-A6/; -< /�+ <6£+ 23 /�+ G21�<68+.+8 ?2 G-�5A-.;� ��+ .+,.+<+1/-/621 G-1 �+ �61-.; ¡ C6186G-/+< /�+ ,.+<+1G+� ��+.+-< ´ 6186G-/+< /�+ -�<+1G+ 23- �2.8 ¡ 2. 3.+�5+1G; G251/ �-<+8 ¡ +-G� +A+0 +1/ 6< /�+3.+�5+1G; 23 2 GG5..+1G+ 23 - �2.8 61 - 82G50 +1/ � ��+ -A72�.6/�0 ��6G� � 6AA � + 8+.6?+8 6< 12/ A60 6/+8 /2 +6/�+. 23 /�+<+.+,.+<+1/-/621< = �2�+?+. �+ 2�/-61+8 �+//+. <G-A+8 .+<5A/<5<617 /�+ �61-.; G28617 = -< 6/ -?268< <+.625< 25/A6+.< � * .2,�,617 /�+ /+.0 3.+�5+1G; 6132.0 -/621 82+< 12/ 1+G+<<-.6A;60,A; - A2<< 23 5 <+35A 6132.0 -/621 = -< /�+ 150�+. 23 2 GG5.�.+1G+< 23 - �2.8 61 - 82 G50 +1/ 0-; �+ 121�6186G-/6?+ 610 -1; <6/5-/621< �B 150�+. 23 </586+< �-?+ <�2�1 /�-/ A6//A+ 6< /2 �+ 7-61+8��+1 <2,�6</6G-/+8 G20,5/-/621-A A61756</6G< 0 28+A< -.+5<+8 2?+. <60,A+ </-/6</6G-A .+,.+<+1/-/621< � 9/ 6< -A<2 12�/-�A+ /�-/ ��6A+ A61+-. = <5, +.?6<+8 GA-<<6�G-/621 /+G�16�5+<�-?+ � ++1 .+,2./+8 /2 -G�6+?+ �67� -GG5.-G; 32. 82 G50 +1/GA-<<6�G-/621 �C� = /�+2.+/6G-AA; �+AA 32518+8 F¢ �-<+8 51�<5,+.?6<+8 GA5</+.617 0 +/�28< -.+ <20 +��-/ A-G�617 85+/2 /�+ 0-1; A2 G-A 2,/60 - 61 /�+ A6�+A6�228 <5.3-G+ -18 /�+�67� 8+,+18+1G+ 21 ,-.-0+/+. 61/6/6-AA6£-/621 �D� � ��-/ 6< =A61+-. <+,-.-�6A6/; 23 /�+ GA-<<+< 6< 0 2.+ ,.2�-�-�A+ 85+/2 /�+ <,-.<+ 1-/5.+ 23 /�+ 8-/- = �2�+?+. 6/ -A<2 ,.2?68+<0 -1; A2 G-A 0 -�60 - 23 /�+ A6�+A6�228 ��6G� 6< - ,.2�A+0 61F¢ 0 6�/5.+ 028+A617 ��+/ 5< 8+12/+ �; µ ¶ �·¸¹ �¸º � »»¼ ½¹º � »»¾ /�+ 2�<+.?+8
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8-/- 23 - /+.0 �; 82G50 +1/ 0 -/.6� 23 /�+ G21<68+.+8 82 G5�0 +1/ G2.,5< = ��+.+ � 6< /�+ 860 +1<621-A6/; 23 /+.0 < � <,-G+-18 � 6< /�+ 150�+. 23 82 G50 +1/< 61 /�+ G2.,5< � ��+?+G/2. �¹ � 6AA .+3+. /2 21+ G2A501 23 /�6< 0 -/.6� ��+ -<<50 + /�-/ /�+ 2�<+.?-/621< -.+ � 5</ - <,-.<+ = 126<;+�,-1<621 23 - 8+1<+ = � �860 +1<621-A A-/+1/ /2,6G 2. G21�G+,/< <,-G+ � ��+ ,.2,2<+8 0 +/�28 �-< /�2 </+,< = �.</A;=�-<+8 21 /�+ ,.+?625<A; .+,2./+8 �2.� 61 /�+ 820 -61 = �+-82,/ /�+ <,-G+ <,-11+8 �; /�+ �.</ � +67+1?+G/2.< -< /�+<,-G+ ��6G� /�+ /2,6G�G21G+,/< A6?+ 61 = -18 61 /�+ <+G218</-7+ �+ -.+ A22�617 /2 68+1/63; /�+ GA5</+.< 61 /�6< <,-G+ ���+.+32.+ �+ ,.2� +G/ /�+ 8-/- 21/2 /�+ �.</ � 516/ 12.0+67+1?+G/2.< = ��+.+ � 6< /�+ 150�+. 23 GA-<<+< �+ -.+ A22��617 32. ���+ ,.2� +G/+8 8-/- � 6AA � + 8+12/+8 �; �
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��+.+ � G21/-61< /�+ �.</ � +67+1?+G/2.< � ��+<+ G-1 �+ +3��G6+1/A; G20,5/+8 32. +�-0,A+ 5<617 /�+ �-1G£2< -A72.6/�0�­� 32. :6175A-. �-A5+ *+G20,2<6/621 23 <,-.<+ 0 -/.6G+< �
4�22<617 /�+ 516/ 12.0 32. /�+ 1+� �-<6< 6< � 5</ - 0-//+.23 <G-A617 = -18 /�+.+ 6< 12 <,+G6�G .+�56.+0 +1/ /2 <+/ /�+?-.6-1G+< -A217 /�+ -� 6< /2 21+ 61 /�6< -,,A6G-/621 � �-/5�.-AA;= -3/+. G20,.+<<621 /�+ GA-<<+< � 6AA 7+1+.-AA; �-?+ -12?+.A-,,617 -.+- = �5/ 63 <5	 G6+1/ 616/6-A 860 +1<621< -.+ G�2�<+1 = /�-1 �+ 0 -; �2,+ /�+ 2?+.A-, /2 �+ A+<< <+?+.+ � ��+ -A�72.6/�0 8+?+A2,+8 61 /�+ <+�5+A � 6AA 12/ �+ -�A+ /2 <+,-.-/+2?+.A-,,617 82 G50 +1/< = �5/ <+,-.-/621 23 /�2<+ 82 G50+1/<3-AA617 25/<68+ /�+ 2?+.A-,,617 -.+- � 6AA 12/ � + 7.+-/A; 61�¬5+1G+8 � ��+ @4B G20,.+<<621 = �+<68+< �+617 2,/60 -A 61/�+ A+-</ <�5-.+< <+1<+ -18 76?617 - 8+1<+ .+,.+<+1/-/62123 /�+ 8-/- 61 - 05G� <0 -AA+. 860 +1<621 = -A<2 �-< /�+ -8�?-1/-7+ 23 .+02?617 - 7.+-/ -0251/ 23 126<+ �C´� = -18 21/� 6< 6< �-<+8 /�+ <5GG+<< 23 �:B��-<+8 .+/.6+?-A �
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61 6/6-A6£-/621 ,.2�A+0 � -3/+. - .-1820 616/6-A6£-/621 = -18 63/�+ GA-<<+< -.+ 12/ ?+.; 86</61G/ 61 <,-G+ = /�+.+ 6< 12 75-.�-1/++ /�-/ /�+ <-0 + GA-<< � 6AA 12/ �+ 32518 <+?+.-A /60 +< =��6A+ 2/�+. GA-<<+< G-1 .+0 -61 5186<G2?+.+8 ��+ � 6AA 61/.285G+ - .+</.6G/621 �.</ � 61</+-8 23 <+-.G��617 32. /�+ G22.861-/+< 23 /�+ 6186?685-A GA-<< 0 +-1< �+� 6AA <+-.G� 32. /�+ 86.+G/621< 23 /�+ 6186?685-A GA-<< 0 +-1< =</-./617 3.20 /�+ 2.6761 = ��6G� 6< /�+ G20021 ,261/ 23 -AAGA-<<+< � 91 2/�+. �2.8< = �+ �� /�+ 12.0 23 /�+ GA-<< 0 +-1?+G/2.< /2 - G21</-1/ � ��6< A+-8< /2 - 0286�+8 GA-<< A6�+A6��228 = 1-0 +A; ��� 0286�+8 -< 32AA2� < �
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